2 RERTE-AIVTRERR

EJERE Eih AR (Ba/ke)
NO Eth we | maee | weg | PRES % iy 28 BB GaE | BRR ER | | wokoise| wokee
1| RBBE=RIVY | (BEBR) | BER KEH FERER - SR 47 EERREREEVY— Ge H24.2.10 | H24.2.10 <69 <71 9.1
2 | BRRE=SULY | BER) | BER ALl FERER - SR 45 ERERREREEVY— Ge H24.2.10 | H24.2.10 <6.9 <85 <79
3 | BRRE=4ULY | BER) | BER =&HT FERE R - SR 47 EEREERELLS— Ge H24.2.10 | H24.2.10 <74 <82 <78
4 | BRRE=SULY | BER) | BER AIIET IR - SR 47 EERREREVY— Ge H24.2.10 | H24.2.10 <10 <82 <97
5 | RABE=4JLY | BBR) | =ER AW | FRER - SR 45 RERREREEVY— Ge H24.2.10 | H24.2.10 <71 <88 <88
6 | BRRE=4ULY | BER) | BER F2llES) IR M - SR 4K ERERREREEVY— Ge H24.2.10 | H24.2.10 <67 <85 <48
1 | REABE=4JLY | BEBR) | =ER E%AW | ERER - SR 45 ERERREREVY— Ge H24.2.10 | H24.2.10 <6.9 <98 <6.2
8 | BRRE=4ULY | BER) | BER BEAE | FRESR - SR 45 RERREREEVY— Ge H24.2.10 | H24.2.10 <15 <72 <638
9 | BRRE=4ULY | (BER) | BER BEAE | FRESR - SR 45 EERREREEVY— Ge H24.2.10 | H24.2.10 <52 <638 <73
10 | REBFE=2JULY | BEBR) | &=ER BEAE | EREH - SR 47 RERREREVY— Ge H24.2.10 | H24.2.10 <69 <88 <82
1" | REBFE=2JLY | BEBR) | #ER BEAE | EREH - SR 47 RERREREEVY— Ge H24.2.10 | H24.2.10 <6.1 <83 <8.1
12 | REBE=2JLY | BEBR) | =ER BEAE | EREH - SR 4K RERREREEVY— Ge H24.2.10 | H24.2.10 <55 <17 <72
13 | REBE=4JLY | BEBR) | &=ER E%AW | EREMR - SR 45 RERREREEVY— Ge H24.2.10 | H24.2.10 <76 <76 <84
14 | REBE=4JILY | BEBR) | &=ER E%AW | EREM - SR 47 RERREREVY— Ge H24.2.10 | H24.2.10 <10 <71 <87
15 | RABFE=4JLY | BEBR) | =ER E%AW | EREM - SR 45 RERREREVY— Ge H24.2.10 | H24.2.10 <63 <638 <59
16 | REBFE=2JLY | BEBR) | =ER E%AW | EREM - SR 45 ERERREREEVY— Ge H24.2.10 | H24.2.10 <66 <95 <82
17 | REBFE=2JILY | BBR) | #ER E%AW | EREM - SR 45 ERERREREEVY— Ge H24.2.10 | H24.2.10 <66 <93 <73
18 | RABE=4JYLY | BEBR) | =ER E%AW | EREM - SRV 47 RERREREEVY— Ge H24.2.10 | H24.2.10 <79 <9.1 <89
19 | REBFE=4JLY | BEBR) | =ER E%AW | EREM - SR 47 ERERREREVY— Ge H24.2.10 | H24.2.10 <170 <13 <71
20 | BRRE=SULY | BER) | BER E%AW | EREM - SR 45 ERERREREEVY— Ge H24.2.10 | H24.2.10 <74 <78 <83
21 | BRRE=SULY | BER) | BER &IF FERE R - SR 45 EERREREEVY— Ge H24.2.10 | H24.2.10 <55 <76 <65
22 | BRRE=SYLY | BRER) | BER D) FEiRES - P - B 47 EEREERE L S— Ge H24.2.10 | H24.2.10 <14 <96 <13
23 | BRRE=4YLY | BER) | BER &IF FERE R - - B 45 ERERREREEVY— Ge H24.2.10 | H24.2.10 <6.1 <82 <65
24 | BRRE=SYLY | BER) | BER D) FEiRES - P - B 47 EEREERE L S— Ge H24.2.10 | H24.2.10 <6.3 <6.6 <6.8
25 | BRRE=4YLY | BER) | BER | FRTEH | ERESR - SR 45 BERREREVY— Ge H24.2.10 | H24.2.10 <74 <95 <17
26 | BRERE=2YLY | BER) EER | RIERTHE | ERER - SR 45 EREREREREEVY— Ge H24.2.10 | H24.2.10 <6.2 <86 <58
27 | BRRE=SULY | BER) | BER LWhEM | FRER - SR 47 EERREREEVY— Ge H24.2.10 | H24.2.10 <15 <93 <73
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<57 <89 <87
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<117 <11 <90
<71 <91 <82
<6.6 <85 10
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<63 <83 <76
<10 <719 <71
<56 <87 <638
<59 <82 <83
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<16 <11 <87
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<14 <92 <70
<6.7 <80 <85
<117 <11 <74
<66 <86 <48
<71 <87 <717
<58 <82 <6.2
<59 16 27
<14 18 18
<59 <93 <712
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<6.2 10 18
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